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BER E&SEREHE R RIEERERITRIES
% g - AKTiE Bifr 2 fiff & #B w E

E R 17,795,150 + 843,087 18, 638, 237
BEEAGE 17,795, 150
E#ERE 843, 087
T At R i 17,795,150 x 53.85% ( 35% + (1 — 35% ) ) 9,582, 688
KHRE 18,638,237 + 9,582, 688 28, 220, 925
—REEES 28,220,925 x 53.85% ( 35% + (1 — 35%) ) — 7,893 15,189,075
KB 28,220,925 + 15,189,075 43,410, 000
HEREHELE 43,410,000 x 10.00% 4,341,000
EHETEH 43,410,000 + 4,341,000 47,751, 000




BERRE BESEEE R LRI EA AR TR LS

% L] R& - MAKSTE BfL % B B ' # m =
BRI 18, 638, 237
LEEBFERREZRICRIEEMESITRIAES 18, 638, 237
LERBFERERICRLIEEMESITREERS 18, 638, 237
EEAGE 17,795, 150
EEEBICET SR THENILE 336, 900
1 EEEBICET SRTHEDILE 1.00 336, 900 336, 900
=
BEEEBOHRT 16, 631, 100
2 BXOFERUVHITERICEY 41K 1.00 6, 398, 700 6, 398, 700
e .
=
3 BWEGEHICHT SMIEXRE 1.00 6, 398, 700 6, 398, 700
=
4 SR EICEY S RIEETS 1.00 3,833,700 3,833, 700
=
BEEEZBOERAEFDBIED-ODHEK( 440, 750
F)DEH
5 BEERBOXRBHFOBRIEDO-ODA 1.00 440, 750 440, 750
/(X)) DEH .
=
&€ 331, 200
6 TAtE 12.00 27, 600 331, 200
=
& - |WE 55, 200
1 & - |E 2.00 27, 600 55, 200
=




BERRE

LEEBFERERICRIEEMERTRIIERS

EEREE

843, 087

EHARE 174, 087

8 EHAME 1.00 174,087 174,087
=

EBHARE 69, 000

9 EHHEMS 1.00 69, 000 69, 000
=

FHEAEDHEENS L VELESE 600, 000

10 XBEAEPEENE L VEGRES 1.00 600, 000 600, 000
=
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LESEFERERCRIEEMESITREAES

=T
& BEEERICEAT SRTEEOILE XLy
%4 7 R - AR R BAf = B i & # # B &
HEn (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 5.00 45, 300. 00 226, 500
& E%82H : 1.00=% 336, 900. 00 336, 900
5:2
B BEOMHERUPITERICET SMEER XLy
% 7 R - AR R BAf = B i & # # B =
HEm (A)
A 6.00 55, 200. 00 331, 200
HEn (B)
A 75. 00 45, 300. 00 3,397, 500
A (C)
A 75. 00 35, 600. 00 2,670, 000
& E%82H : 1.00=% 6, 398, 700. 00 6, 398, 700
5:3
L B ERERICET HEELERE XLy
% 7 R - AR R BAf = B i & # # B =
HEn (A)
A 6.00 55, 200. 00 331, 200
HEm (B)
A 75. 00 45, 300. 00 3,397, 500
A (C)
A 75. 00 35, 600. 00 2,670, 000
& E%82H : 1.00=% 6, 398, 700. 00 6, 398, 700
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5:4
2 hEEERRICEAT AMIEES 1XEY
2 Lo R - BIRTE BARL 2 B ff € &8 # B &
HEn (A)
A 3.50 55, 200. 00 193, 200
HER (B)
A 45. 00 45, 300. 00 2,038, 500
AR (C)
A 45. 00 35, 600. 00 1, 602, 000
= 5 1YE%HeH - 1.00K 3, 833, 700. 00 3, 833, 700
E =)
2 EEEBOERAEFDOEIED-HDH K (F) DEFH 1XEY
2 Lo R - BIRTE BARL 2 B ff € &8 # B &
FEHED (55
A 1.25 62, 200. 00 71, 750
HEn (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 3.00 35, 600. 00 106, 800
= 5 1E%HeH - 1.00K 440, 750. 00 440, 750
5:6
B HTEE EEY
2 Lo R - BIRTiE BAGL 2 B ff € &8 # B =
HEn (A)
A 0.50 55, 200. 00 217,600
= 5 1YEZHER - 1.00[E 217, 600. 00 217,600
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&5 .17
B 1% - | 1EHY
£ 7 R - KT By = B Of & | W E B &
HEn (A)
A 0.50 55, 200. 00 217,600
= 5 {EZ8ER - 1.00mE 217, 600. 00 21, 600
5:8
2% EHARE XLy
£ 7 R - KT By = B Of & o W E B =
EHARE
= 1.00 174,087.00 174,087
= 5 1EZBER - 1.00 174,087.00 174, 087
&5 :9
B EBBRR 1LY
£ 7 R - KT By = B Of & | W E B =
XBRRRE
= 1.00 69, 000. 00 69, 000
= it 1EZBER - 1. 00 69, 000. 00 69, 000
H5:10
& EBAEBEENS K VELRESE 1LY
£ 7 R - KT By = B Of & o W E B =
4 kY 1.5L
B 12.00 50, 000. 00 600, 000
= it EZBER - 1.00= 600, 000. 00 600, 000




